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23 4,560,000 7,160,000 A 2,600,000

J| 3,298,900
Al 1,261,100

= el (gF/46tsE - +E) 2,491,831 4,161,647 A 1,669,816
J| 1,230,731
Al 1,261,100

Hezel(=2NESE3H) 2,491,831 4,161,647 A 1,669,816
J| 1,230,731
Al 1,261,100

A2 H2e 46,520 95,560 A 49,040

201 Let24E] 32,120 34,160 A 2,040

01 At 22l 3,000 4,400 A 1,400

OBt@2AE Yotz 7
200,000& » 5% « 13 1,000
O=&ZBd g8=2 MH 200,000& * 43 800
O=Z22d &9 M= 60,000& = 2004 1,200
02 2324l 29,120 29,760 A 640
OY &, 515 +TAAN 42
80,000& = 15004 = 128 14,400
OSE2ALD =ZHBA =2
208,000& * 203l 4,160
Odtd = =2 FZA =2
80,000& = 110 = 128 10,560
202 oddl 6,900 6,900 0
01 = LH &4 1l 6,900 6,900 0
Ox=&22% AlgdAt O]
90,000& = 1H 30 2,700
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20,0003 = 2% = 5 » 123 2,400
206 M= Hl 4,500 14,500 A 10,000
01 MHZ 4l 4,500 14,500 10,000
LHQHYK MUB MB PU(RZL S)
500,000& = 53] 2,500
O2LELH & KR3HA 2,000,000& « 1= 2,000
207 Ao & H| 3,000 40,000 A 37,000
01 2284 3,000 40,000 A 37,000
OLIEE 0B IL & 2LIHE JItAHL =
= 1,500,000 * 24! 3,000
tEot=E A& &X 1,194,980 1,268,580 AT73,600
201 £B-2dH| 108,380 108,380 0
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01 AP 22| H| 2,000 2,000 0
OZ220tsXHelAld 28 282 X H&
2,000,000& = 1A 2,000
02 2=2=24%H| 106,380 106, 380 0
OZ220t+XMelAld SFH WA A A
660,0008 » 3874 & 25,080
OZ2Z20tE=HHelAE A3
1,500,000 = 14! 1,500
OZ220tsXMelAld 2E22ZA =42
175,000 = 38 A& ~ 12€ 79,800
401 AlEHIZL 2 0HY| 1,086,600 1,160,200 A 73,600
01 Al&H| 1,086,600 1,160,200 A 73,600
OZ2Z20tE=XHelAlE 222 29|
54,000,000 * 6IH X+ 324,000
OZ2Z0tET Al A 2 X AHHI
7,000€& * 500m * 1004 2 35,000
OZ22dts=HXMelAld Hel& f=2lx=4H]
9,000,0008 * 3874 2 342,000
OZ220tsXMelAld BOTH 24|
3,600,0008 * 4004 2 144,000
OBTo+ ML HHAH SDVBI} £42
125,000,000 * 14! 125,000
OZ2Z20tE=HelAld & X el
65,000 * Q0HA * 12&€ 70,200
OZ20tx=HMelAlE (FI1&)JIs=& |
36,400,000 = 14! 36,400
OZ2Z20tE=HelAlE =& 22 el
10,000,000& = 1A 10,000
(Z)g=2tae olHEIIHI 2 57,000 57,000 0
J| 57,000
207 SO0 £ 57,000 57,000 0
J| 57,000
01 s A 57,000 57,000 0
OEESH AIHHE O|HE D}
57,000,000& * 14! 57,000
J| 57,000
(R)edszae HEsA2Ad 2LIHE 25,500 25,070 430
J| 25,500
207 I & 25,500 25,070 430
J| 25,500
01 24| 25,500 25,070 430
Otisa2ZAIE 2LIHE 25,500,000 * 14! 25,500
J| 25,500
(Z)EHIZANE 29 ISl AE 29 212,921 272,510 A 59,589
J| 193,321
Al 19,600
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Sl ATWHBRA(FEHESEEN) (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
201 Le-2d| 212,921 272,510 A 59,589
J| 193,321
Al 19,600
02 =224l 212,921 272,510 A 59,589
OltE2dta=SAIE A3
203,321,000& * 14 203,321
J| 193,321
Al 10,000
Obtsdt=SAlE S423  800,000& = 12& 9,600
(RIH=EEE SSH2AMNE 298 XA 573,910 624,245 A 50,335
J| 573,910
307 glz2+ol & 573,910 624,245 A 50,335
J| 573,910
03 QIAHMNHE2IHIEE 573,910 0 573,910
OMEEx B3XMelAlE 29l
573,910,000& * 14| 573,910
J| 573,910
(L ELZE AN 2 ALY 381,000 1,655,500 A 1,274,500
J| 381,000
403 HtXISHH S0l & 381,000 0 381,000
J| 381,000
02 S 2SO HEAEE 2 E AL H 381,000 0 381,000
OHIEQIANMZ ALY 381,000,000& * 14 381,000
J| 381,000
Hees(8ZEsn) (88 /4ots2 - =2) 2,068,169 2,998,353 A 930,184
J| 2,068,169
WEAHAXE (NS SESIA) 2,068,169 2,998,353 A 930,184
J| 2,068,169
(Z)SBINZAE HX ot=2AH(UHEHAXS) 761,400 1,475,000 A713,600
J| 761,400
701 JIEtSI HETES 761,400 1,475,000 A713,600
J| 761,400
03 BIILELIIHMNENES 761,400 1,475,000 A713,600
020098 H Al ot=2HEHIBTLEUE
487,200,000 * 14l 487,200
J| 487,200
020108 HFAl ot=2HEHIBTLE U=
274,200,000 * 14 274,200
J| 274,200
(2)EAIN=ANE Y S3ota=HAANE(HEHAX 1,306,769 1,523,353 A216,584
%)
J| 1,306,769
701 JIEtSI HEEES 1,306,769 1,523,353 A 216,584
J| 1,306,769
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